BID ON: ENGINE COMPONENTS, TRANSMISSIONS AND BODY SHOP SUPPLIES BID NO: 22-31

ITEM	DESCRIPTION	QTY	BIDDER	UNIT PRICE	TOTAL COST	BRAND/PART #	CATALOG & PAGE #	DELIVERY ARO
	PART I - AS NEEDED (QUANTITY) CATEGORY: ENGINE COMPONENTS							
1	Injector,International,VT365	24	Jasper Engines	\$179.00	\$4,296.00	Jasper 3050192	JET 2022	2 Days
2	Turbo Charger, International, VT365	2	Jasper Engines	\$825.00	\$1,650.00	Jasper 3050098	JET 2022	2 Days
3	Injector, International Maxforce DT9	6	Jasper Engines	\$320.00	\$1,920.00	Jasper 3050202	JET 2022	2 Days
4	Coolant Boost pump, 2516874C91	4	Ward Int'l	\$279.43	\$1,117.72	Intl-As Specified	Electronic	1 Week
5	Fuel Pump Maxxfroce DT9 5010733R92	2	Ward Int'l	\$503.54	\$1,007.08	Intl-As Specified	Electronic	1 Week
6	Valve IPR International Maxforce DT9, 1889325C94	4	Ward Int'l	\$324.28	\$1,297.12	Intl-As Specified	Electronic	1 Week
7	EGR VALVE INTERNATIONAL DT9 1890997C92	1	Ward Int'l	\$729.16	\$729.16	Intl-As Specified	Electronic	1 Week
8	EXHAUST BACK PRESSURE SENSOR, DT9 1846480C2	3	Ward Int'l	\$62.79	\$188.37	Intl-As Specified	Electronic	1 Week
9	INTAKE MANIFOLD PRESSURE SENSOR, DT9 1846481C2	3	Ward Int'l	\$65.43	\$196.29	Intl-As Specified	Electronic	1 Week
10	DELTA PRESSURE SENSOR, DT9 3626432C1	2	Ward Int'l	\$176.71	\$353.42	Intl-As Specified	Electronic	1 Week
11	FUEL PRESSURE REGULATOR, DT9 3006082C1	1	Ward Int'l	\$463.32	\$463.32	Intl-As Specified	Electronic	1 Week
12	WASTE GATE ACTUATOR, DT9 1889625C91	1	Ward Int'l	\$406.72	\$406.72	Intl-As Specified	Electronic	1 Week
13	DOZIER INJECTOR KIT, DT9 2512884C91	1	Ward Int'l	\$357.11	\$357.11	Intl-As Specified	Electronic	1 Week
14	EXHAUST BRAKE VALVE ASSEMBLY, DT9 7088657C91	1	Ward Int'l	\$638.99	\$638.99	Intl-As Specified	Electronic	1 Week

ITEM	DESCRIPTION	QTY	BIDDER	UNIT PRICE	TOTAL COST	BRAND/PART#	CATALOG & PAGE #	DELIVERY ARO
15	HARMONIC BALANCER PROPANE 6.8, 10052331 or approved equal	2	No Bids Received	I				
16	EXHAUST SENSOR PROPANE 6.8 10042606 or approved equal	3	No Bids Received	I				
17	EXHAUST SENSOR PROPANE 6.8 10042607 or approved equal	3	No Bids Received	I				
18	BOOST PUMP PROPANE 10049629 or approved equal	2	No Bids Received	I				
19	OXYGEN SENSOR DOWN STREAM 10020831 or approved equal	2	No Bids Received	I				
20	LOW COOLANT LEVEL SENSOR 10062389 or approved equal	10	No Bids Received	I				
21	THERMOSTAT PROPANE 6.8 10043643 or approved equal	3	No Bids Received	I				
22	BODY CONTROL MODULE 10017418 or approved equal	6	No Bids Received	I				
23	PTO 11923002 or 10023203 or approved equal	1	No Bids Received	I				
24	SURGE TANK (COOLANT RESIVIOR) 1003599 or approved equal	2	No Bids Received	I				
25	MULTIPLEX MODULE PROPANE 10051865 or approved equal	1	No Bids Received	I				
26	FUEL RAIL PRESSURE MODULE PROPANE 1053709 or approved equal	1	No Bids Received	I				
27	CATLYSTIC CONVERTER PROPANE 10049732 or approved equal	1	No Bids Received	I				

ITEM	DESCRIPTION	QTY	BIDDER	UNIT PRICE	TOTAL COST	BRAND/PART#	CATALOG & PAGE #	DELIVERY ARO
28	CATLYSTIC CONVERTER PROPANE 10019616 or approved equal	1	No Bids Received					
29	MASS AIR FLOW SENSOR PROPANE 10019951 or approved equal	2	No Bids Received					
30	OXYGEN SENSOR UPSTREAM PROPANE 10020830 or approved equal	6	No Bids Received					
31	OXYGEN SENSOR DOWNSTREAM PROPANE 10020831 or approved equal	6	No Bids Received					
32	EXHAUST SENSOR PROPANE, CAT 10042606 or approved equal	3	No Bids Received					
33	EXHAUST SENSOR PROPANE, Y-PIPE 10042607 or approved equal	3	No Bids Received					
34	FUEL PUMP KIT PROPANE 10058843 or approved equal	1	No Bids Received					
35	NITROGEN SENSOR 5295473	2	Ward Int'l	\$771.31	\$1,542.62	Cummins-As Specified	Electronic	1 Week
36	TEMPERTURE SENSOR 4384811	2	Ward Int'l	\$179.89	\$359.78	Cummins-As Specified	Electronic	1 Week
37	NITROGEN SENSOR 4326869RX	2	Ward Int'l	\$545.03	\$1,090.06	Cummins-As Specified	Electronic	1 Week
38	FUEL PUMP 5398557	1	Ward Int'l	\$2,616.92	\$2,616.92	Cummins-As Specified	Electronic	1 Week
39	WATER PUMP 5473173	4	Ward Int'l	\$180.77	\$723.08	Cummins-As Specified	Electronic	1 Week
40	DEF PUMP 10035950 or approved equal	2	No Bids Received					
41	HARMONIC BALANCER 4938209	1	Ward Int'l	\$373.12	\$373.12	Cummins-As Specified	Electronic	1 Week

ITEM	DESCRIPTION	QTY	BIDDER	UNIT PRICE	TOTAL COST	BRAND/PART#	CATALOG & PAGE#	DELIVERY ARO
42	AIR COMPRESSOR 5301080	1	Ward Int'l	\$1,618.78	\$1,618.78	Cummins-As Specified	Electronic	1 Week
43	AMMONIA SENSOR 4307496	2	Ward Int'l	\$650.35	\$1,300.70	Cummins-As Specified	Electronic	1 Week
44	BOOST PUMP 10049629 or approved equal	3 I	No Bids Receive	d				
45	EXTERNAL DEF PUMP 4387304RX	1	Ward Int'l	\$934.09	\$934.09	Cummins-As Specified	Electronic	1 Week
46	MULTIPLEX MODULE 10064402 or approved equal	1 1	No Bids Receive	d				
47	BOOST PUMP INTERNATIONAL 2516874C91	2	Ward Int'l	\$279.43	\$558.86	Intl-As Specified	Electronic	1 Week
48	DIFFERENTIAL PRESSURE SENSOR 2871960	2	Ward Int'l	\$149.42	\$298.84	Cummins-As Specified	Electronic	1 Week
49	DOZIER VALVE INJECTOR CUMMINS 2888173CUM	1	Ward Int'l	\$412.98	\$412.98	Cummins-As Specified	Electronic	1 Week
50	HEATER BOOST PUMP IC 3940254C91	2	Ward Int'l	\$279.00	\$558.00	Intl-As Specified	Electronic	1 Week
51	DIFFERENTIAL PRESSURE SENSOR, IC 2871960	1	Ward Int'l	\$149.42	\$149.42	Cummins-As Specified	Electronic	1 Week
52	Engine Cover (Dog House), International 3612573C91	2	Ward Int'l	\$624.20	\$1,248.40	Intl-As Specified	Electronic	1 Week
	PART II - AS NEEDED BASIS CATEGORY: TRANSMISSIONS							
				UNIT PRICE				
53	Transmission 2000 Series recon Allison		Ward Int'l	\$3,022.87		TRC	Electronic	1 Week
54	TRANSMISSION FORD REMAN JC4Z7000WRM or approved equal	I	No Bids Receive	d				

ITEM	DESCRIPTION	QTY	BIDDER	UNIT PRICE	BRAND/PART#	CATALOG & PAGE #	DELIVERY ARO
	PART II - AS NEEDED BASIS CATEGORY: TRANSMISSIONS CONTINUED						
55	Specify amount paid for labor, if any, to School system for in warranty transmission replacement. Note: Transmission pricing must include a two year unlimited mileage warranty.		Jasper Engines	\$25.00/hr			
	CATEGORY: BODY SHOP SUPPLIES						
56	Sand Paper, MPRP9PSA0220 or approved equal	ı	No Bids Received	I			
57	Sand Paper, N0R83819 or approved equal	ı	No Bids Received	I			
58	Sand Paper, N0R23608 or approved equal	ı	No Bids Received	I			
59	Sand Paper, N0R23575 or approved equal	ı	No Bids Received	I			
60	Sand Paper, N0R23578 or approved equal	ı	No Bids Received	I			
61	Air File Paper, KEY036 or approved equal	ı	No Bids Received	I			
62	Fiber Glass, BDO404 or approved equal	ı	No Bids Received	I			
63	Gun Wash Thinner, 30660050 or approved equal	ı	No Bids Received	I			
64	Reducer, WAN391709 or approved equal	ı	No Bids Received	I			
65	Hardner, WAN391714 or approved equal	ı	No Bids Received	I			
66	Masking Tape 2', MMM06656 or approved equal	ı	No Bids Received	I			
67	Masking Tape3/4, MMM06652 or approved equal	ı	No Bids Received	I			
68	Putty, BDO-592 or approved equal	ı	No Bids Received	I			
69	Bondo Filler, BDO-265 or approved equal	ı	No Bids Received	I			
70	Paint School Bus Yellow, WANSSPG1-G or approved equal	ı	No Bids Received	ı			

ITEM	DESCRIPTION	QTY	BIDDER	UNIT PRICE	BRAND/PART #	CATALOG & PAGE #	DELIVERY ARO
71	Key Primer, KEY8001 or approved equal	N	lo Bids Received	I			
72	Fiber Glass Resin, BD0404 or approved equal	N	lo Bids Received	I			
73	Fiber Glass Matt, BD0411 or approved equal	N	lo Bids Received	I			
74	Paint Dupont or approved equal	N	lo Bids Received	I			
	CATEGORY: ENGINE COMPONENTS						
75	Pump, High Pressure, International, VT365		Jasper Engines	\$675.00	Jasper 3050084	JET 2022	2 Days
76	Turbo High Pressure International Maxforce 7 (6.4)		Jasper Engines	\$850.00	Jasper 3050232	JET 2022	2 Days
77	Cooler EGR L/S International Maxforce 7 (6.4) 1845145C99		Ward Int'l	\$807.86	Intl-As Specified	Electronic	1 Week
78	Pump High Pressure Fuel International Maxforce 7 (6.4)		Jasper Engines	\$1,700.00	Jasper 3050237	JET 2022	2 Days
79	Fuel Injector International Maxforce 7 (6.4)	,	Jasper Engines	\$179.00	Jasper 3050192	JET 2022	2 Days
80	Pump, High Pressure, International,	,	Jasper Engines	\$675.00	Jasper 3050084	JET 2022	2 Days
81	Turbo Low Pressure International Maxforce 7 (6.4)	,	Jasepr Engines	\$700.00	Jasper 3050229	JET 2022	2 Days
82	Cooler EGR L/S International Maxforce 7 (6.4), 1845145C99		Ward Int'l	\$807.86	Intl-As Specified	Electronic	1 Week
83	Cooler EGR R/S International Maxforce 7 (6.4) 1899244C94		Ward Int'l	\$2,223.49	Intl-As Specified	Electronic	1 Week
84	Fuel Injector International Maxforce 7 (6.4)	,	Jasper Engines	\$179.00	Jasper 3050192	JET 2022	2 Days
85	Pump High Pressure Fuel International Maxforce 7 (6.4)		Jasper Engines	\$1,700.00	Jasper 3050237	JET 2022	2 Days
86	EGR VALVE MAXXFORCE 7 (6.4) 1881385C94		Ward Int'l	\$601.86	Intl-As Specified	Electronic	1 Week
87	Turbo Low Pressure International Maxforce DT9		Jasper Engines	\$1,200.00	Jasper 3050230	JET 2022	2 Days
88	Pump High Pressure International Maxforce DT9		Jasper Engines	\$1,500.00	Jasper 3050239	JET 2022	2 Days

ITEM	DESCRIPTION	QTY	BIDDER	UNIT PRICE	BRAND/PART#	CATALOG & PAGE #	DELIVERY ARO
89	Cooler EGR International Maxforce DT9, 2513976C92		Ward Int'l	\$2,557.63	Intl-As Specified	Electronic	1 Week
90	Turbo Low Pressure International Maxforce DT9		Jasper Engines	\$1,200.00	Jasper 3050230	JET 2022	2 Days
91	RADIATOR PROPANE 10033724 or approved equal	١	No Bids Received	I			
92	FUEL RAIL PRESSURE SENSOR CUMMINS 4306993CUM		Ward Int'l	\$151.45	Cummins-As Specified	Electronic	1 Week
93	RADIATOR BLUE BIRD 10053625 or approved equal	ı	No Bids Received	I			
94	FUEL RAIL CUMMINS 295117 or approved equal	1	No Bids Received	I			
95	Engine Complete,VT-365. Engine must be drop in ready. Using /std.set of new parts. All other casting & components are remanufactured to meet or exceed OEM spec. Engine must be dyno tested		Jasper Engines	\$13,443.00	Jasper 1155020	JET 2022	2 Days
96	Maxx Force 7 (6.4) International Engine Long Block Assembly. Rotating assembly, Cylinder Heads, Oil pan and Valve Covers. Using /std.set of new parts. All other casting & components are remanufactured to meet or exceed OEM spec.		Jasper Engines	\$8,489.00	Jasper - Varies	JET 2022	2 Days
97	Engine Complete Ford 5.4. Engine will be drop in ready and dyno tested. Using / standard set of new parts. All other casting and componets are remanufactured to meet or exceed OEM specs.		Jasper Engines	\$4,530.00	Jasper 564510	JET 2022	2 Days
98	Ford 6.8 liter long block KU1Z6006BRM		Jasper Engines	\$6,381.00	Jasper 563710	JET 2022	2 Days

Notes: Jasper Engines - 2 Days if in stock and Pricing for complete w/o fuel system. No running complete available

VENDOR ADDRESSES

#108616
Jasper Engines and Transmissions
PO Box 650
Jasper, IN 47546
(800) 827-7455
Fax: (812) 634-1820

#167 Ward International Trucks 2101 Perimeter Road Mobile, AL 36615 (251) 433-5616 Fax: (251) 433-5617